~

THREMILEICEIL2ERFATEER O ERER)

RE  BR.ER

BAREZRDIESR SERIhDERE
& B & 5 140A1031

5] it £ /53

Fr £ th ERhAEBETR/ K
5 ERMAIRED

) 500 1.000n
oo

SiER (s=1:25000) 2=}

F8



REMNMOFEREREHFZ

BRS—1 BENETNOHDELH. ELLVEEDNSZNDHL LN RER _ _ | REEE F R 65
2 18 & oo B EmsS 140A1031 | Bmf =/E-3 EXSia It Y
W
\) \\/\V// N A
«"// ‘ \‘Q
T /
1 \

\

/

\ 0 10 20
\\\\\\m&um \




RO AR R R E

HRX3—2 BEYMICHERTILEESNIERICHYSFEE (/1) _ _ | BEFE | TRIcEE
AR ONE | BmEs | 140A1031 B % | = /K3 [ il [ Ehmakbi/k
. SERHO FinlZBET 51 SfERHA
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Floms B TR et | B | e | oo | | B |y | e e | B2 e | e
1 100kN/mM##BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
TS 1.00/ 000 ~ 524 65.27] #hList 000 ~ 524| 2.19 11.06 ZThLLSE 1.00] 500 ~ 800 65.27| Thilst | 500 ~ 8.00| 2.19 11.06
9 100kN/mM#%#BZ % 1.00] 000 ~ 3.71 160.22|3m%#B% 5| 0.00 ~ 0.44| 3.24 16.38| 100kN/m%# 2z % 1.00[ 1059 ~ 39.29 160.22|3m%#B% 5| 25.00 ~ 39.29| 3.24 16.38
ZThLS 1.00| 3.71 ~ 1150 100.00] Zh st | 044 ~ 1150 3.00 15.16 Zh LS 1.00] 500 ~ 1059 100.00f #hlist | 500 ~ 25.00] 3.00 15.16
3 100kN/mM##8Z % 1.00/ 0.00 ~ 3.37 154.12|3m%#B%%| 000 ~ 0.80| 3.49 17.65| 100kN/m%# 2z % 1.00| 11.48 ~ 32.00 154.12|3m%#E% 5| 25.00 ~ 32.00| 3.49 17.65
ZhLS 1.00] 337 ~ 11.15 100.00] #h st 1080 ~ 11.15| 3.00 15.16 Zh LS 1.00] 500 ~ 1148 100.00| #hlust | 500 ~ 25.00] 3.00 15.16
4 100kN/mM#%# 8% % 1.00/ 0.00 ~ 249 139.09|3m%#%%[000 ~ 0.12| 3.08 15.59] 100kN/MZ# %% 1.00| 12.15 ~ 2412 139.09|3m%#B% 5| 2000 ~ 24.12| 3.08 15.59
ZThLS 1.00] 2.49 ~ 10.28 100.00] Zh st |0.12 ~ 10.28] 3.00 15.16 Zh LS 1.00] 500 ~ 1215 100.00| #h it | 500 ~ 20.00] 3.00 15.16
5 100kN/mM#%# 8% % 1.00]/ 000 ~ 259 140.73|3mZ#BZRB| - ~ = = -| 100kN/iZi#8 % % 1.00| 1058 ~ 23.18 140.73|3m%#BZ % -~ = = =
ZhLS 1.00] 259 ~ 10.38 100.00] Zh st | 000 ~ 10.38] 2.65 13.38 Zh LS 1.00] 500 ~ 1058 100.00| Zh it | 500 ~ 23.18] 265 13.38
6 100kN/mM#%#BZ % 1.00/ 000 ~ 212 132.83|3mZi#BZRB| - ~ = = -| 100kN/iZi#8 % % 1.00| 10.69 ~ 20.00 132.83|3m%i#B% % -~ = = =
ZThLS 1.00] 212 ~ 990 100.00] Zh st 000 ~ 9.90| 2.60 13.16 Zh LS 1.00] 500 ~ 10.69 100.00| #h it | 5.00 ~ 20.00] 2.60 13.16
7 100kN/mM#%# 8% % 1.00/ 000 ~ 356 157.47|3m%#8% %[ 000 ~ 2.10| 3.93 19.88| 100kN/mMZ# %% 1.00| 10.61 ~ 64.00 157.47|3m%#B% 5| 30.00 ~ 64.00] 3.93 19.88
Zh LS 1.00] 356 ~ 11.34 100.00] #h st | 210 ~ 11.34] 3.00 15.16 Zh LS 1.00] 500 ~ 10.61 100.00| x4t | 5.00 ~ 30.00| 3.00 15.16
8 100kN/mM##BZ 5 1.00] 0.00 ~ 3.68 159.73| 3m%#E% 5| 0.00 ~ 2.18] 3.99 20.16] 100kN/mM%#B 2% 1.00| 10.55 ~ 60.00 159.73|3m%#E% 5| 25.00 ~ 60.00| 3.99 20.16
Zh LS 1.00] 3.68 ~ 1147 100.00] #h st | 218 ~ 11.47| 3.00 15.16 Zh LS 1.00] 500 ~ 1055 100.00| #h it | 500 ~ 25.00| 3.00 15.16
9 100kN/mM##BZ % 1.00]0.00 ~ 3.98 165.05[3m%#8% 5| 0.00 ~ 242| 4.18 21.11] 100kN/mM%E#BZ 2 1.00| 10.63 ~ 58.00 165.05|3m%#E% 5| 25.00 ~ 58.00| 4.18 21.11
Zh LS 1.00] 3.98 ~ 11.76 100.00] Zh st | 242 ~ 11.76] 3.00 15.16 Zh LS 1.00] 500 ~ 10.63 100.00| #h it | 500 ~ 25.00| 3.00 15.16
10 100kN/mM##BZ % 1.00] 0.00 ~ 3.95 164.48|3m%#8% 5[ 0.00 ~ 239| 4.15 20.98| 100kN/m%#BZ % 1.00| 10.60 ~ 57.10 164.48|3m%#E% 5| 25.00 ~ 57.10| 4.15 20.98
Zh LS 1.00] 395 ~ 11.73 100.00] #h st |2.39 ~ 11.73] 3.00 15.16 LS 1.00] 5.00 ~ 10.60 100.00| #h it | 500 ~ 25.00| 3.00 15.16
» 100kN/mM##BZ 5 1.00] 0.00 ~ 4.09 167.02|3m%#8% 5| 0.00 ~ 2.66| 4.40 22.26| 100kN/mM%#B 2% 1.00| 11.22 ~ 66.32 167.02|3m%#E% 5| 25.00 ~ 66.32| 4.40 22.26
Zh LS 1.00] 409 ~ 11.87 100.00] #h st | 266 ~ 11.87| 3.00 15.16 Zh LS 1.00] 500 ~ 11.22 100.00| #h it | 500 ~ 25.00| 3.00 15.16
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#E% % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZNLSE ~ ZThLst ~ ZTHLSE ~
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